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Question

D- 100101

Question

Type: MCQ

Question: | €9Z'# f: R — R @b IfHf2s T A9 f (3x) —f (x)=2x, AW £ (8) =7, (OCT f (14) A« Ta—

A: 4

B: 10

C: 11

D: 16
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Item No: 2

Question

D- 100102

Question

Type: MCQ

Question: gqi2’s O & g o A /1 2, =1+ 2i, A% B R z,, Re(z,) < 0 IS OAB <5l 712

| e fags 99 @ OB | (90% 91 (0! ) 723 2

A arg z,=w—tan" 13

B: ") 1 4
: arg (z, —2z,)= —tan -~

g (21— 22) 3

D: |2Zl - Zzl =5
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Question ID: 100103

Question Type: | MCQ

8x+y+dz=-2
x+y+z=0
Question: AX—3y=p

| 1
8x+y+4z+2=0 9T 7 (k: M, —E]ﬁ?{@?'ﬁ‘ﬁfﬁ =

B 4
C: z_ﬁh

9
D: E]_

3
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Question
D- 100104
Question
Type: MCQ

. 492 A 9Bl 2 X 2 SIFIEF (TEF FTO det (A)=—1 9<% det (A +1I) (Adj (A)+1))=4 (o
Question:
A T R GTEEER @i 279 2lE—

A: -1
B: 2
C 1
D: _ﬁ
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%‘feSt'O” 100105

Question
Type: MCQ




. 364

Question: | =1, =3, x=0, x=y* 4 29 AT (9 FI 3 20, SR FIelRE Al a A 29
A: 3
B: 5
C: 7
D: g
Topic: Mathematics-Section A
Item No: 6
Question
D 100106
Question
Type: MCQ

QR 2, 22, 23, . W% 4, 42, 43, ... TN YOI STAGS 2o TF 2Mq AT 60 OF n | v IRl
Question: 225 n

60+ n AN BTG TG (2) 8 T, (BT D, k(n — k) 278

k=1
A: 560
B: 1540
C: 1330
D: 2600
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Question
D- 100107
Question
Type: MCQ
log,. {1 = x4+ x?) + loga(1 +x + ?) . [— 'n')
’ £ | ~=a =
. W fx) = SecY — Cosx 2 " 2)—{0} FFFEwT x=0
Question:
k , =)

e wifdfen 27, (Sr@ kAN T9 ¢
A: 1
B: -1
C: e




D: 0
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Question
D- 100108
Question
Type: MCQ
o F2) {x+a . A x+1 , x<0
x) = - —@ﬁﬁ,\—ﬂ
Question: lx — 4] , x>0@‘lﬂ§g(x) (x—4)2+b ) x;‘—:OW@TRw 5,
(ST (gof) (2) + (fog) (—2) AN 29 ¢
A: - 10
B: 10
C: 8
D: -8
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Question ID: 100109
Question Type: | MCQ
2 —-x?+10x-7, xs1
Qe f(x) = "
Question: —2x +log, (b= — 4), x>1
x =178 f(x) TG 9 290 b 9 SR G A2 OB 29—
A (-6, —2)
B: 2, 6)
C: |—6;: —2) i (2, 6]
D: [—JE —2) W (2, \/ﬂ
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Question Type: | MCQ
1l ’ 1 — cosx
Question: ﬂfﬁ a= lm % =S f(x) = ,|———  xe (U; 1); CS(F
n—eo oM + k 1 + cosx
a a
< -0
f 2 f 2
a a
B: et N — |= .\/E
r3)13)
71(2) - #(2)
f 2 f 2
a a
-
r(3) - (3
Topic: Mathematics-Section A
Item No: 11
Question ID: | 100111
Question MCQ
Type:
- dy : T m
Question: Tt = + 2y tanx = sinx, 0 <x < = =i Y 5 =0, (o(% y(x)?iﬂﬁ"éf'ﬂmfﬁg
A: l
8
B: E
4
C: l
4
D: E
8
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Question
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Question
Type: MCQ
95! 9 P @it 9ife F1 Sz TM0e (1, 2) 9 (— 2, 1) @ 2[00 1991 950 @9 14 | @25 PR
Question: | AT 719 f (x, y)=0 RF x- & T A, B e o% y- & 9 C, D e (2xt 3| (9% ACBD
FUCEOIE e AW 29—
A: 2
2
8. 3417
2
c. 3J17
4
D: g
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Question
D- 100113
Question
Type: MCQ
GRIZF y2 = 24x SHJER (o, B) RUS Gl ~(FTIE 2x + 2y =5 [FUF €2 &7 | (ST
Question: . yz = -
=" = =1 RIS (a+4, B +4) o Tfee=or T @R[ g 23—
A (25, 10)
B: (2[], 12)
c: (30, 8)
D: (15, 13)
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Question 100114

ID:




Question

Type: MCQ
cuestion: | (1 2 4) AL CGIIRI S x4y —z=0=x — 2y + 32 —5 (FIGT FTT RN (FCIT €17
| 9=l (1, -2, 5) RME ol 7S (7 29—
A: E
2
B: 2
2
C: E
2
D: 1
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Question
D- 100115
Question
Type: MCQ
— M M N
QART a=ai+j—k ¥ b =27+]—ak-a>013 _7 4 25 -2k =%
Question:
— — "
a X b 39T 230 2, (O[T o TV 27 —
A: E
2
B: &
C: E
2
D: 7
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Question 100116

ID:




Question
Type: MCQ
. 4
Question: | Fyeiv 57 ey W1 2T T o WF | AP(X =1) = 213 (OB P(X = 471 5) PR T4 2
A: E
9
B: EL_
81
C: E
27
D 145
243
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Question
D- 100117
Question
Type: MCQ
< Zap 2+~ p
¥9125 By, E,, B, 903 [Ol5] sie7ig fafere 9oa1 Aice P(E,) = , P(E,) = = IEa
Question:
1 =
P(E3) = Tp |7l p 7 i i T T G p, BNF p, T, (0T (p, +ps,) T 29 ¢
A: E
3
B )
3
C: E
4
D 1
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Question
D- 100118
Question
Type: MCQ
§q1ZH S = {0e [0, 2] : 825in%0 4 §2c0s%0 — 16} | (BTH n(S) + Z[sec [E + 29] cosec [E . 23)}
Question: 05 4 4
AEZTT ¢
A 0
B —2
c —4
D 12
Topic: Mathematics-Section A
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Question ID: 100119
Question Type: | MCQ
. 1 1 /D 1
Question: tan [2tan1—+sec VY f2tan™! = | smimga e
5 2 8

A:
B:
C: l

4
D: E

4
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Question ID: 100120
Question Type: | MCQ
Question: (N(p e Mq)) A q ﬁ;ﬁg(fﬁ_
A &l PSS




B: o1 fAsiqTe e
C: (p = q) A q 79T
D: (p - q) PN pﬂﬂil@ﬁﬁ
Topic: Mathematics-Section B
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Question
D- 100121
Question .
Type: Numeric Answer
PG p, q, r € R F AN TR G 69 722, AW (p2+ q2)a2 — 2q(p + r)x + g2 + r2 = 0 TR
Question: 2 4 1,2
AL @B 37 22 + 2x — 8 =0 IR & 27, (90F oz T g
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Question ID: | 100122
Question .
Type: Numeric Answer
Question: SRBAIEE FFOFE 36 (TRNE 5 SR AT FrelRe 7 747 29
Topic: Mathematics-Section B
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Question
D- 100123
1Q_ue§tion Numeric Answer
ype:
Question: | 3 I IR afferq (®FEGRE (3), {6, 9, 12}, {15, 18, 21, 24, 27},. . . A2f® f2pits Reifere zi
02| (Or% 1199 HeBGoIH SBISEIF (el (A5 AW 24 |
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Question ID: | 100124
_?ues.tion Numeric Answer
ype:
Question: | x3(x3—x2—x+1) +x (323 —da2 —2x +4) — 1 =0 AN PN foq AT To19 YT 29—




Topic:

Mathematics-Section B

Item No: 25
Question
D- 100125
_Crlues.tion Numeric Answer
ype:
Question: % (1+x)P (1-1)9, p, q < 153 RSR© x % 22 I 729 I —3 OF —5 T, (90T 23 J 724
| e 2] |
Topic: Mathematics-Section B
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Question
D- 100126
Question .
Type: Numeric Answer
. 1 1
Question: | 7 n(2n+1) [ (1 - a2 dx = 1177 = ™2+ dx | (7% neN WIH 29
Topic: Mathematics-Section B
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Question
D- 100127
Que§ti0n Numeric Answer
Type:
qqIH y=y(x) TGCT (3, 3) LT 7119 2V < IO TE© x- T T €ATT IS 3 ©F x(>3) T
3
Question: | e e (@9 I [1) | W TG IACHT 1 (IS 41 (o, 6+/10) R 211 2, (ST o S
X
gq9_ |
Topic: Mathematics-Section B
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Question
D- 100128
Question .
Type: Numeric Answer
ABC fqg®« AB, BC i€ CA /29 (194 @3 2x +y=0, x +py = 15a W% x—y =3 | M 22
Question:

1
Afre@® (Orthocentre) (2, a), ) <a<2%y, (% p M 29 |
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Question
D: 100129
1Q_ue§tion Numeric Answer
ype:
49127 f(x) =242 —log,x, x > 0, FI (0, a) © ZPTAI S (a, 4)C G | 42 = dax SETES 96l
A
Question: | (5. P @ Bl = Sfea (8a, 8a—1) fia A 21 e [— ~ UJ RS oflg 27 | AW p©
X
WW;+%=1,M@’&+BW§? |
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Question
D: 100130
Que§tion Numeric Answer
Type:
qa AL 2 Y2 27 i asie P, 2, 7) e oA 36 TS < QW R D
Question: 2 3 2 © P, 2,7) V26 Q
4 | (% PQR fagem e 35f 29 |
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Question
D: 100131
Question
Type: MCQ
e (rYedl a9 M =100 kg, m; =10 kg B m, =20 kg I ToH0I ©5 B! e el 21|
FHFNER 792 TEOZI S F2PTZ 2106 S TLENE | FAFEDIE AT S T2 | FRoe
<5t 3@ F #7991 25 TS m, SI0O! 2 ms 2 THEE Tae 5o 71| F 3 9 23,
(g=10 ms —2 (=74)
Question:
my =10 kg
F
— > M=100kg | |m,=20kg
A: 3360 N




B: 3380 N
C: 3120 N
D: 3240 N
Topic: Physics-Section A
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Question
D- 100132
Question
Type: MCQ
Ouest 6 MHz 3 #&l 10 MHz 3 %f6® 4 R (Boa ¢es @bt @ Tow @ it | #ifbcasa
uestion:
oI SRt WiW 29,
A: 4 m
B: 20 m
C: 30 m
D: 50 m
Topic: Physics-Section A
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Question
D- 100133
Question
Type: MCQ
G WS (OTTg TR RE6a 2/ Rt %9 @ifs fifite 4250 {967 =71 10 WG #iws, 12 2]
Question: | 2f% WE® 2250 967 ZHCs! | K6 &= 27,
(log101.88 =0.274 =)
A: 0.02 min !
B: 2.7 min !
C: 0.063 min ~!
D: 6.3 min !
Topic: Physics-Section A

Iltem No:

34




Question
D 100134
Question
Type: MCQ
Ouest TR 900 nm ST SRS 100 Wm —2 F §F TG (o128 196 (o123 IR gR TageiE

uestion:

AT T Y AT (2| GF (TPET IHHR TS 21 1 em2 FIETS A/ (=[5 7241 27,
A 3x 1016
B: 4.5x 1016
C: 4.5x 107
D: 4.5 % 1020
Topic: Physics-Section A
Item No: 35
Question
D 100135
Question
Type: MCQ
4

5 ﬁ@a%@zﬁﬁaﬁ%@qummmﬁﬁﬁﬁmmwgavﬁﬁﬁ—\swiﬂ,c—%ﬂw\a .

uestion:

B4 ZA9 (mm GFF)

A: 16
B: 0
C: 48
D: 12
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Question ID: 100136

Question Type: | MCQ




<5t AT I FHRIT Sa6ie Gifess cwa Wl (ot

. — _ ] A
Question: B =2x10"8sin(05x 10°x +1.5 x 10!y j T &
fanrerTas AwR 9,

A: x - 91 %% 6 Vm 1
B: z - O] %% 3 Vm !
C: z - O e 6 Vm 1
D: 7 - OFFR @ 2x10~8 Vm 1
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Question
D: 100137
Question
Type: MCQ

G5t (HTE LR TGS X = R Ol TSCH1 el @efs P, | @fSq! C daFga 4 <Ot (HTRaeiE
Question: P,

FCA T 2 AT X = X, TNl o P, 2ACoH | Seoif® P, &

A: l

2

1

B: —_—

J2
C: ﬁ

2
D: 2]
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Question 100138

ID:




Question
Type: MCQ
Fay fay M M
Question: | & T GifEF oFa (2:‘ + 3;‘) T © 3 G5l ST TS TR @0 | TM 277 T4 (ui - 4}') ms 2
o, (@ aINTZ S,
A: 3
B: 6
C: 12
D: 2
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Question
D: 100139
Question
Type: MCQ
TGP T 2T FHAR 23 TOH F2e1 X 9T Y I (FH (GI19F (FG F By WF By, | M X
Question: | FZETCRTE 200 B #(IF ST % PNE 20 cm TF Y FETCIER 400 BT #/1F I =6 HENE 20 cm,
By ©II<E, By 9 ©I7(1@ 27,
A: 1:1
B: 12
C: 2801
D: 4.1
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Iltem No: 40
Question ID: 100140

Question Type: | MCQ




ATG JOA 1061 21T 159,
4 ()
W 21} 4 Q)
Question: WW \/VV\/ \M/\/
4 () 4 ()
I M YY¥Y¥YrYy
G
\_ 40V
A: 10 A
B: 20 A
C: 4 A
D: 40 A
Topic: Physics-Section A
Item No: 41
Question 409141
Questi
T;pees: ion | vica
ANGATSIE TN C, =1 pF, Cy=2 pF, Cy=4 pF 9F C,=3 uF LTI <6 TS Jo
Question: | sy« 23,
(4 TRt AMEWGE TS 20 V 1 @6t @4t WA wieg)
A 200 pC
B: 200 C
C: 10 w:
D: 10 C
Topic: Physics-Section A
Item No: 42
Question ID: | 100142
Question MCQ

Type:




Question: | cafwal Wbt FIfE 7T 2 1gE 9ifs (e w5, o T (@911 (F4ifbaa 2ipfe 23,
A: W
B: GoREFE
c: BIEGRA
D: e (AP
Topic: Physics-Section A
Item No: 43
Question
D: 100143
Question
Type: MCQ

@ piois, = RS oo Sl (of 7 mol 3 TEee! 40K i@ <541 (202 | U2 #@feiBe (oI=iBId
Question: | SIeR 1o *(T&q I =2,

(et =1it2 R=8.3 JK~! mol 1)
A 5810 ]
B: 3486 ]
c: 11620 ]
D: 6972 ]
Topic: Physics-Section A
Item No: 44
Question
D: 100144
Question
Type: MCQ

L ¥ 1
ovest P 519 21 B V SAGR GReRIE (712 2010 FeHbe 3 21 29 2_fes waed o (3
uestion:

IS GF) T T T | G QGG S bl [F 2T
A: P
B: 8P




C: DI
D: 64
Topic: Physics-Section A
Iltem No: 45
Question
D 100145
Question
Type: MCQ

1 cm FAET GBI 21 (BI#I1ETE 729 B 9 (Bl#iETe Mo =) 25 | AMCE AN 590H 75 dyne/cm
Question: | Z7, (ST %9 (&4 7€ 29, WIS #(1%F U BT,

(a1l =iitg w=3.14)
A 85x1074]
B: 82x1074]
C: TR0 ]
D: 53x1074]
Topic: Physics-Section A
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Question ID: | 100146
Question
Type: MCQ

et 2fediepa 2@t 32 km 3 < T 031 (AR 2 96! A(FHT GT=E *oFal 2 23,
Question:
(#f219 AAE = 6400 km)

A: 1%
B: 3%
C: 4%
D: 0.5%
Topic: Physics-Section A
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Question
D 100147




Question

Type: MCQ
ewe o SRpT, 2fSTBl 250 g T 961 973 el &7 2 Nm ~ 1 3 quie] Pete@ 7l F4t (2R | ameg
Question: | TG RelTe e o @l el &7, Paeuem e 2o 23,
250 g 880800250 ¢
A 7
242
B: E
2
C: E
4
v
D: —_
J2
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Question
D 100148
Question
Type: MCQ
50 kg O G5! AT TEIF I2IS I91120% RICITE 350 N 3 B (T) 72 FRQ 2173 | 2 90 4 ms ~2 TR
Question: | #(a IfEE | SEAES 5 ms 2 GI(EE S2F051 901208 | 9% [FFE00! 5T F41,
(=10 ms™?)
A: @IS0 I5MET T=700 N |
B: G& (1 AICAICe T=350 N |
c: G9[3e F9iETe TRTE = 7|
D: GELe FINICS FRIClE 2 19 |
Topic: Physics-Section A
Item No: 49
Question 100149

ID:




Question

Type: MCQ
Ovest SIS (100 TFCH 30° SIS 45° © WG| U5! ATH2 AT TS KT Tovel #(17 | PR A-es
uestion:
@91 S ATS & 27 |
A 1:4/2
B: 251
C: 241
D: 1 82
Topic: Physics-Section A
Item No: 50
Question
D: 100150
Question
Type: MCQ
6.8 cm T BIFT JAN ©FE 1 A FREE A 0.5 mm 553 5t ~Foe qa121a 31 (202, I3 (FTT
Question: | %% 1.5 mm Ii% JEITE (T 513 7 | SPTA AL FLL{Ta1 sloiml 91 Srawie qeopa el 2,
(B ORI (FET® 50 [eieH witz)
A 6.8 cm?
B: 3.4 cm?
C: 3.9 cm?
D: 2.4 cm?2
Topic: Physics-Section B
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Question
D: 100151
_I(?ues.tion Numeric Answer
ype:
B A SRR TS 2Efes (@0 G (939 | S oifesied TR y =5x(1 - x) | 2RAEE
Question: i

@9 y - ToAlRH 2 Jl
(g=10 ms ™2 D)




Topic: Physics-Section B

ltem No: 52

Question

D: 100152

_Crlue§tion Numeric Answer

ype:

1 kg O OIF R GPNER Q<4 2ITF TR 991 TOTFOIE E (FHEM (@R GO SIgIRE SR oTF
GO P T3 AT | AT A e WETg a2 ©F @6 I8 AE7 T4 29 | @fent

Question: | fyRICSt «fF frat 27, afont It frmew SegRe @i, 3E & fdF @929 4,/% rads~! 9
x= |
(T g=10 ms~2)

Topic: Physics-Section B

Item No: 53

Question

D 100153

_I(?;pe;tion Numeric Answer
A3 1 m (T I SR 26 @efleF eiRem <5 ASTEre, (@fewt 1 kg 3 9% 9T fral T Saere
TR 2PRE + 0.02 mm RIS G108 0.4 mm N9 541 (5102 | SRTER FF + 0.01 mm IH6TeF

Question: | TS 0.4 mm W% 1 (9102 | AT eI (AY) T2 (ZR1 HG 1 x 1010 Nm—2 ({1 Toltz | x 7 W
v
(g=10 ms —2 (=1l

Topic: Physics-Section B

Iltem No: 54

Question

D: 100154

?ue§tion Numeric Answer

ype:

Afeat Qe oME SEmFea W iz A, 26[@ F=[IkF 100 Hz, @fon T smsaes «iF (2

Question: | g1, F=o[IE 50 Hz | (IS AMTTFFG MG (309 91 IR F=I1F 27 % Hz, T




Topic: Physics-Section B
Item No: 55
Question
D- 100155
1Q_ue§tion Numeric Answer
ype:
BaS (TG LA, 72 Tl (t, S t,) WO! 72T 2RI 2Mi2fT <bl 3= AT Al 1T 5107
F4 (T= | A fon sRiEpies smide @ ARQAR e #Ife F & 7)9F 4t (Z0z | ARAE Ao
Aodaq fTea =3 Vi
Question:
er, =3, =05mm L
ery =2 =1 mm T 0¥
Topic: Physics-Section B
Item No: 56
Question
D- 100156
1Q_ue§tion Numeric Answer
ype:
e (r9eal 1ael < NG aTere (et R AR5 1 (202 | TEeW (0 1, = 40 cm | 9feqi P 3 109
(AT F SIS (@4 x FLCAM T4 (202 WNE T2 G 21 st F T g (0 80 cm
(ARl Colt= | OO x q W T Ql
P
Question: | B = |
P=41Q
<«
A =
J
[} (o)
I’ N
E K
Topic: Physics-Section B
Item No: 57
Question ID: | 100157
Question

Type:

Numeric Answer




TS TH F=IFS &G Jo oIS 2ISIq] 2T 1 (effective current) T Al
8 () 20 mH 6 |I.|.F 4 () 50mH 8()
—/\WA— T || VWA BT ——AMN—,
Question: = 0.5 uF = 0.5 pF
{f YW 1| WW 1| YWW
o 05uF 10 08uF 40 0.8 uF 20
Pt
A
220V
Topic: Physics-Section B
Item No: 58
Question
D: 100158
?ues.tion Numeric Answer
ype:
S~ 1 1
o (el wqel, @i #ies Ted (P Jife o el Sfses A o IR — F S G (@ 4oa
S T4 (20 | FTEAE eferEiE 1.5 W 3 e opE I P (R) OiFE | R G WE 29
_ cml ((IATS p= T4 7Y, v =2feRT 199)
AY 1
—(em™1)
Alow v
Question:
10,08
1 0.06
10.04
1002
- B 1 L L 1
X —0.10 —0.08 —0.06 —0.04 —0.02 1()
2 (em~1)
v
Topic: Physics-Section B
Item No: 59
Question
D: 100159
Question

Type:

Numeric Answer




TG T IS, T (ST 22S TR SR N 491 T | AN (HAR 2 T G @ O

Question:
AR (XTI 3 T TG (IS TS SRINAD 214 “an”, @feAl a= |

Topic: Physics-Section B
Item No: 60
Question ID: 100160
Question Type: | Numeric Answer

o TS0, (T TS &JME 2] mA |

4k 1 Iy
| WMA—> >
Question: I
Z z
(100-120) V i V,=60 V3 10kO

Topic: Chemistry-Section A
Item No: 61
Question ID: 100161
Question Type: | MCQ

ot 15 offet 11 3 (e oo <

sifert 1 it 11
() (TFR)

(A) BrF; O s
Question:

(B) [CrF P~ (II) Fefe PoRifEre

(C) O, (1) fogeieR Bi+EeE

(D) PCl, (IV) BT

Fxfoie feem [ o7 Teq Jife Thred ¢
A (A) - (1), (B) - (1), (C) - (11I), (D) - (1V)
B: (A) - (IV), (B) - (ITT), (C) - (1), (D) - ()




C: (A) - (D), (B) - (IV), (C) - (), (D) - (III)
D: (A) - (D), (B) - (IV), (C) - (1), (D) - (T)
Topic: Chemistry-Section A
Item No: 62
Question ID: | 100162
_?;pees:tion MCQ
iferet 13 Sfferet 113 ics fimm &t ¢
Sife 1 Sifer 11
(srafs/ Rfemm) (SF)
cuestion: | () 250,(8) +0,(g) — 25054(g) Fe(s)
(B) 4NHj;(g) +50,(g) — 4NO(g) +6H,0(g) Pt(s) —Rh(s)
(€)  Ny(g) +3H,(g) — 2NH;(g) V505
(D) e (oot (1) + H, — IS 9(s) Ni(s)
fefeiie Tesselal v Teg aifz Tl ¢
A: (A) - (IID), (B) - (1), (C) - (1), (D) - (IV)
B: (A) - (), (B) - (1), (C) - (1), (D) - (1V)
C: (A) - (IV), (B) - (IIT), (C) - (1), (D) - (II)
D: (A) - (IV), (B) - (IT), (C) - (II), (D) - (I)
Topic: Chemistry-Section A
Item No: 63
Question ID: | 100163
Question MCQ

Type:




TS ¥l Ufe el 2 ¢
& 12 Cl, S, 7219 i sifesiefe e g |

Question:
& 11 : TR Ciftmr AP PR 37 2Rk JoeEecs T @R
GRS TS GEAH! T

A: i 1 oI Bf& 11 qiaitie w7 |

B: OfE 1 ois & 11 veaitiE oies |

C: OfE 1 v, Of& 11 w15 |

D: ofE 1 oiug, Ofe 11 @5 |

Topic: Chemistry-Section A

Item No: 64

Question ID: 100164

Question Type: | MCQ

Question: R 2@ IZR FIE L FANO! WROE & 4GS AN T
A s Wik

B: T COel

c: T (Ao #faize]
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B (A) > (C) > (D) > (B)
C: (©) > (A) > (D) > (B)
D: (© > (D) > (B) > (A)
Topic: Chemistry-Section A
Iltem No: 78
Question ID: | 100178
Questi
T;.Ipees: on MCQ
Queston: | (B «few Wi wfRfllem adlzec e o ba FefElke @G oemEs
A (OET SoANCF
B: I
C: GTRET SoNES
D: S-S [ SANEE
Topic: Chemistry-Section A
Iltem No: 79
Question ID:  |100179

Question Type: | MCQ




Question:

fxfele (@ @b [eas w5 2

OH

2 g d
H-C—OH
HO-C—H O
H-COH
H-C

HOCH, S H

H H
H OCHj,

OH OH

HOH,C H H CH,OH

OH OH HO OH

OCH,

-y

OCH,
OH
HO H
OH
OH

& b

a

a5

CH,OH

Topic:

Chemistry-Section A

Item No:

80




Question

D 100180
Questi
T;Jpees: on MCQ
TS 5! UG WAl 25 ¢ @5l #T6aIT& (A) B S6! #1990 (R) Z5itel e 31 2+ |
FeorifE (A) ¢ CHLCR R =@ SWig AICLA I ASTRIers [T o o p- fNalizs «fifem
e |
Question:
19 (R) ¢ afifeia — NH, 551 Wil (2 a7 AICL, 3 T100 7109 Beefs a9 IR0 i<
(TRAMA TTeu M@ m-Meize @R |
€T TG TeTs FRiERe ReeRer g Uk Az Teed ¢
A (A) == (R) 1 012 G I (R) Z2e] (A) S & 7Tl |
B: (A) ST= (R) 7CAGI2 79 5% (R), (A) T &% 1R 923 |
c: (A) 7% 5% (R) =19 |
D: (A) TT9] 5% (R) 719 |
Topic: Chemistry-Section B
Iltem No: 81
Questi
Do | 100181
_I(?ues.tion Numeric Answer
ype:
fifz wife e GiESTa #ifeq #[1 Fofe 311 §°Fe #iivTe 2712 2 L3 9Bl Mg J 48 ppm 2IGOR ¥
AR 29 | 92 TAWT® Mg AT AL x x 1020 2= | x I T 25 | (Foow w12e
Question: e
(el TR ¢ Mg 3 ARW9RSE ©F 24 g mol ~1; N, =6.02 x 102 mol 1)
Topic: Chemistry-Section B
Item No: 82
Questi
Dot | 100182
Question

Type:

Numeric Answer




BT OiF SEEE @5l e ©1 BEie 40% TRYTEE i, RGeSk bt et

Question:
™75 0 51 2.2 bar A bar | (5w Tr2e 7124)
Topic: Chemistry-Section B
Item No: 83
Question
D- 100183
Que§tion Numeric Answer
Type:
<5 SR NS <5 TG SR ST 29 (Rew! 3ETGe (5 feER (@9 x &4 29 | x AT A
Question: I (T wee R4
(FFTRGE 99 T4 9.1 x 10 3! kg O% R ©9 24 1.6 x 10~ % kg)
Topic: Chemistry-Section B
Item No: 84
Question
D- 100184
_?;pees:tion Numeric Answer
9Bl 'Y (PRGBS 298 K ©i% 1 atm BI7I® 2.4 g T7e1 ol wfHne-g Toifzfos gl 2 |
(SR REa Treel 298 K J %[ 300 K +1 Jfa 27 | FHE119 ward Auee Gmeiietst wf{aea 28 —x k]
Question: mol 1 x g T | (Moo wee 722m)
(Tt =i ¢ 379 (ARG Ot 1Rt 20.0 k] K~ 1| 4fF @t S5 Jus F-e fZeie)
Topic: Chemistry-Section B
Item No: 85
Question
D- 100185
Ques.tion Numeric Answer
Type:
fea@t 800 mL 0.5 M 7EGF «few 5! ReRs 19w 341 27, TR S Site FH T 9T 115 g
Question: | 712G fXE TR A | 7 (@FI IEGF afews waw WEfRl 2% x x 1072 M| (FEbes orde 722y)
(72t «fews TE ©9 275 63 g mol 1)
Topic: Chemistry-Section B

Item No:

86




Question ID:

100186

Question Type: | Numeric Answer

298 K, © RIGAIR I AN 458 25 2 x 1015

Cu(s) +2Ag™ (aq) = Cu?*(aq) +2Ag(s)

(RfEFamR A 455)
Question: 1 1
ECuer(aq) + Ag(s) = 5 Cu(s) + Ag+(aq)
A xx1078 | x I W T
(Foew w2ie 722)
Topic: Chemistry-Section B
Item No: 87
Question ID: | 100187
Ques.tion Numeric Answer
Type:
Fe,O, 3 7@ < Te1 ST AR WL AR F ((F10S)S 24
Question:
(FFoew =g 73471

Topic: Chemistry-Section B
ltem No: 88
Question
D- 100188
Ques.tion Numeric Answer
Type:
Quest <! TR aE A — 2B + C WG Re=eIe 100 s O 50 s (@fen /e A T siivet 0.5 9% 1.0 mol

uestion:

L~ 92wy | [iEer @5 oo | (Faben Tde 712)

Topic: Chemistry-Section B
Iltem No: 89
Question
D- 100189
?ues.tion Numeric Answer

ype:




Question: | [Co(H,0),]Cl, &I [Cr(H,0),]|CL, 3 Tere T Tq paaa Iaa [ A 2o
Topic: Chemistry-Section B

Item No: 90

Question

D- 100190

_?;pees:tion Numeric Answer

Question:

@R CLA F9l® A (71eT ToifEfoe R o[ e arowy X | X © 236 28gre=e <2l 24




